0o

SAP-FK25P0 CFK25P

000 |ooooooooooooo oooooon
000 |ooooo@ooooo)oo)
00000000000 00000000000 Coooocooooo |
oopoooo 0 0000 -eemeeeee
d . SAP EE?E‘ZSVDV) SAP-CFK25P g E' HAnoo b onono)
SAP-FK25P(C) Oooooooo
I 1-852-088-61 1-852-088-43 ooooooooooo
1-852-090-10 ooooooooooon
FIEEGEEEEEE 0 0 100V oooooooooo
00 0oo0ooon 0 (1.8m) {1125V 15A 0 unooooooooobo
oooooooooo 0 0 poooooo
IEEEEEEEEE ooooooon ooooooon 90 00 e
0 FEIEIGEE 0000000 1000 00000 @ 4000 1.2.3.5H0000
O gooooo- 00:22w 00:25W ooooooooooog
0 0000 00000000000 00 0ooooooo
. o CT(DO O 0000000) ooooooo gggg
0 0O O (000000) N9.1  1.6Y7.6/1.2 1.0Y 8.5/0.5 Hooono
000000 (HXWxD) 29500 8050 230 mm 56507200265 mm || .. 0 000 -
IEEEEEEEEE 10 kg 34 kg ooooooon
EEEEEEEEE 00 o 16/ 18(PP) O0@18000)
--------- [mfin o —
ooooooo
0000oo@oon)
oooooooo ooooooo ooooooa poooooo
Oooooooooooon
qgl—00/oo 2.5(0.30 3.2) / 1.3 kW 3.0(0.30 4.8) / 1.6 kW
0000 0 3.5 kW
ol oo BT 0.45 A 0.63 A boooooooooo |
00 oo 4.95 A 547A |l uododo -
0 O 5.4(0 0 :145) A 6.1(0 0 :145) A oooooooa@)
= P e 00000000(2)
0 oo 000000000:RCS-SP2
0 0Q 460 W 521 W
o 20]oo /oo 485(1200 1,080) / 235 W 555(1200 1,220) / 295 W || ceee- 000000 -
J 0ooo 0 1,080 W 0ooooooa)
O 0 O 900 910 oooom
0ooooD0 0 Qg 5.15 | ooog 5.28 | 5.41
0 0 oo [1:580 0:380 mih [1:680 [1:450 mih Iooooooooooooon |
0d 1,620 m? h 1,520 mh ] e 000000 -—e-m
ol 4 g 00 0:41 0:34 0:29 00:25dB 0:43 0:36 0:30 00:25dB 0 0 000000 STK-F4
O oo 43 dB 44 dB 00(00)OSTK-TAL
g 0o 00 0:34 0:29 0:27 00:25dB 0:36 0:30 0:28 0 0:25dB DDDDDDEDDDDDD?]DS?_'TA*:TCAlz
00 43 dB 44 dB 0 0 000000 STK-F5B
0o oo o 14 “/h O 0 0 000000 STK-FSA
Ooooooo 000 (@o) ol 0ooooxo 8520451648200 0 D 000000 STK-FAA
FEEE FEEE ol ooooooo DCOOOD0 O esow || 100000 e
oooooao oo oooao 0O O0o0oOoo 320 cc 000 STK-C2050
oooooo ooog oooooooo (R410A) 1,200g 00 0O0OSTK-Y2040B
FEEEEEE 0.00 oooooao FEEEE 00 00:STK-T2256
GERGEEREE 0000e0.0000 olo 0ooo0ooon 17 m2(10 O0) 000 00STK-T5050
0oooooo 00000 g O oooooo 11me70) EEEBE&T%T;;;;
oooo EEEEEEEE ol Bl BEEEEEE 14 m?(8 0) 2000 O STK-2G2050
gogdo 00 u goooogd 11m?(7 0) 00000STK-TC2050
EEE 0Q 0 FEEEEEE ¢ 6.35(1/4") 00000 STK-KS2050
0000 ooooo@on) g FEEEEEE ¢ 9.52(3/8") 0 0000 STK-K5050
FEEEEE EEEEEEREE n| ooomoooiooo 150 120 8m
ooooooo
EEEEEEEE 227kWh
FEEIEEEEEE 822kWh
0oooooon 1,049 kWh
O
O
O




gobgd
SAP-FK25P

10 785 5 230
e = = .
= S
[E===m===: B
(i ASNND (RN RN AU NRUND IR DU Rlg
' 1 000000 Dg9.52
H 000000 380mmO
- 00000009635
805
oo0ooo 000000 420mmO
E —3
1 1 1 1 bl kil [l T o0 nVQ
oo/l o o °
W
‘ w0
Doooooo
T gooooooog
3
A o 0000001800mmO DDDDDD(DJ.G
2205 (3) 000000480mmO
805.0
1775 450 1775
1 ooooooo ’<—>70 3
- =
= E1HEE
< o 0000 (e 65) 0 fnlo‘, 0000 (e 65)
Ld ° ===‘j e 0
. . 55 'd R ﬁ F
= - NS e | e I R NI VI 7
ST -
2 56
56| | 2 ”
319.5 3445
155.5 155.5
oooOoOo0oOoooao
gooooDooe180
538 a1
© 275 "‘
©
an A
( 4 - )
o / ’ 2
4 O [00000 2-9 190 & g
§ )
[
12
9
720 ) goooooo
gooooooooo
B
§ D 7 00 ¢ 6.350 1/4'0 P
i r T‘ gooooOooooo
) ol i 00¢ 9.520 3/8"0 _
: m . f
T { SAPNTO F T ] i _
3 ]
o
I g
‘l,
3




gobgd
SAP-FK25P

BRHOKE S5

AETF72597E-4 -
# DE [ —%—1[ A
5 BE UV (#) 5751 8 Rz 7Y 7RER
] [
g 2EEFLAPT (&) Cle—= BE
L DI [ —#
B TrvE-4 -
12821 A
DCM (8)[s[a—#
s }——8
Sls—%
] =
L5L6] E
— N
A [fi—2= o] <
N 2[2—%& B E
2y iho-VER St = B
E2SW Gl —=2 717
N 8 DE LAMP (8) 5151 & 615 ]
I — ZESW(> o= BE
AEB+ v ¥ - LL*% DO
g[o—+ 2]2
® 2]2] Rogw/ Folol & = ru B!
&% (&) 33| COIL (8) = L4 HEx
2 () —a]7]
A#RTRE € ¥ - — g o
[ A e e EERZ T ]
ION (e)%%*gi%i A
1 DI
i =
NET () [2] | [ B
R 5
o S
1[2]3] L= & =9
OO BEEa2-Z
f——JaARHmEA
A2 Y b o—VER ®
8D uT " (8 887 #
RV
—F - B W [ B
c o)
RYO!
{@ (&)
o8 AFMLFL, (%TE) AT P VE-4 -
h—{ [
+ % ES *
3 n 5s 5
Ac N/ ac i ’—@777
RY02 ]
FAT -k o AT -
cos %%Mw&~ & |
(&8 U@iﬁ 2
HiC A&
HiC- ocov
_= Iy
A YT Uy b E—g — O] 20 o JAXT qWG = A3 Pt TR Iy
NI xS 3 AE\NWW 2 —] tEO—Ax‘
E/W§ v F-|w DC280V HET VS L E ‘ L1 i" 4 7 %@oﬁow,,
RV S 84-|v N 4 ‘I St l q Ll o IR
S/Uﬁ w1l (&) —[ rw —[ N ’—C %@,,,, N
) T ey — (8) (2) (8) 1 T Sl .
T-RUN/TEST Y coiL/coup 8)@),,,, e
o BT
[EE [(EEEEE R viTen =y
12]aT4]sT6] ,gl1T2]3T4] 5y T - - EMET
ZW, U---TEET
BARKBER BERRRR 7
Ez g v
X = = v
v z—k T - AWF
b2 gy
| I




